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QUESTION 1

Which feature can be enabled in Informix?
A. Automatic addition of a CPU VP.

B. Automatic addition of an ADM VP.

C. Automatic extension of storage spaces.
D. Automatic addition of message log files.

Correct Answer: C

QUESTION 2

storel, store2, store3 and store4 are defined as four servers participating in a GRID.
cor define region —grid=grid1 region store3 stored

SET ENVIRQONMENT GRID_MODE_SKIP ON;
SET ENVIEONMENT SELECT_GRID_ALL region?,

SELECT fname[1,10], lname[1,10], it<_node_id{) A= storenum,
sUMguantity) AS tot_cnt, SUM(total_price) AS tot_am:
FROM items i, orders o, customer c
YWHERE i.order_num = o.order_num
ARD 3 customer_num - coocustomer_num

GROJP BY 2.1
ORDER BY 21,3,

Which statement is true?

A. The SELECT query is not a GRID query.

B. The SELECT query will return results from all grid servers.

C. The SELECT query will return results from storel and store2.
D. The SELECT query will return results from store3 and store4.

Correct Answer: D

QUESTION 3

Which HDR configuration parameter provides three synchronization modes to control when transaction commits are
returned to client applications?

A. DELAY_APPLY
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B. HDR_TXN_SCOPE
C.LOG_INDEX_BUILDS

D. FAILOVER_TX_TIMEOUT

Correct Answer: B

QUESTION 4
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Which option provides the greatest performance benefit in an Informix warehouse environment?

A. Setting lower value of PDQPRIORITY.

B. Increasing the number of B-Tree cleaners.

C. Setting higher value of DS_TOTAL_MEMORY.

D. Setting value of OPT_GOAL configuration variable to 0.

Correct Answer: C

QUESTION 5

Given an OLTP environment with a very large table, which configuration parameter can be set to allocate more memory
for sorting when building an index on the large table?

A. DBUPSPACE
B. DS_POOLSIZE
C.VP_MEMORY_CACHE_KB
D. DS_NONPDQ_QUERY_MEM

Correct Answer: D
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